Qc-040

DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Name of the Test:
Departmental Test for Officers of the
Cooperative Department - Book - Keeping 057
(Without Books)

Maximum Time: One Hour Maximum Marks: 40

IMPORTANT INSTRUCTION.

OBJECTIVE TYPE
QamenGM cuens eleTndsmen

Read the following instructions carefully before beginning to answer the
questions.

elemssepse allanL WwWehsss Qam_miEh ey Sp&EHTIL iMeymrSamens
SHEUGTOMSL LG SH86LD.

1. This computer based Test contains 40 number of questions in objective
Type.

Bhss safefl sufd Gaijeunengl, 40 QsMaT@M eumauileonst eNeTnéHamens
QST 5.

2. Answer all questions. Each question carries one mark
SIS NaTn&asEaGL oL LesseaLb peutleur aflemayd e
LOSICLIETT 2 emLLIg).

3 1In case of doubt, English version is the Final.
allanéseflsd sHCHHL G nTen Qe  eugealled QHTEEHHOUL [Heten
eNaT&&GeT @mISiLimen g,

4. Words of masculine gender in these questions shali, where the context so
require, be taken to include feminine gender.

Abs eNamésefich @@L Lb QuomidTer g6 UTeSieo S g euflsir sUMHem g Herfleh
GoemeuliLigelt,  GLpedCamu  Quesm ureSlensseuflest  eumiseng &Enib
SILhIGLD.

>. Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:
ellneiILGTITHET  &enfsof) il Caialme el weisss QBT Fi@LD
Wwesr  sefeflullesr  Hempued Cameimid  sifleyemnsensn  SHeuTLOTSL)
Lilg $5H6LD.

a) One question will be displayed on the screen at a time.
@Cr CEIsHlL @@ elem wl GC seuflefly SHenguied Cgmermyb.

b) Time available for you to complete the examination will be displayed through
a countdown timer in the top right-hand corner of the screen, It will display



Who developed double entry accounting?
@rlenLugley semadluame GobuigSHweur wmr?

Luca Pacioli (B) Carter

grsar urtGune] SFTLLIT
(C) Spicer (D) Pegler

LIS Qu&er

Which of the following characteristics of accounting is false?
sem&Slwedler uemLsatld saupneng eTg ?
(A) Principles of accounting is designed
sarsSw® (perp CSTETMSEHEET allgeUenLdSSH
(B) Recording of business activities
auafls B eugsamasamer Lfla Calgd
(C) Analyzing and publishing the results
L@LUTie QFugd whmbd (pyeysamar deseflliBge

Utilization of resources
UETMISEN T LIWIGTLI(HSGISE)

Select the correct one in the scope of accounting,
sanrsdlwedler Crrsasdld sflurareng Csirs.

(A} Maintenance of records
uHCeu@aar Lyrofgsed

(B) Determination of profit/loss
@eruwr/ LD eTeT SeirL Hlged

(C) Provision of information
SHECUDEENET G LpBHEGHSE

.Jﬂr Reducing the level of lending

SL6IT GULPRIGHLD HETen6l (HEDEHHH

In Double entry system select the wrong one.
@rten Lude) (panpuller GQudysdr sapramss Csirs.

(A) Duality (B) Benefit or value
B(® FemeningeT UGG B4ebedg! SILIL
(C) Debit and Credit anrecise
LHm elrey goalunhog;
3 040/DD/24
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5. Which of the following statement regarding single entry system is not true?
gpenpliude) wpepp GerLiunear sapdler QUIBBETSS 67 ?
(A) Personal account is posted
ETENT Hewrs@ LHULUBEDg

(B) Cash account is posted
Qrnés seméE uHwuiuGEDs

Reserves can be made
@muumie] surfléEs @pigub

(D) Tax authorities do not accept this method
aufl ey ofsrfladr @ibopenpeanws ghHmisbarareudlcenc

6. Select Unaffiliated Personal Account.
SLETENT SRS @g,rrl_r'rq Sipnans C;,e_sr'ra;.

(4) Individual ¥ Nominal

gefl U Quwirerey
(C) Legal personality (D) Representative personnel
FLL(LPEDD LETFTT gl fEsgieu Sy eramT

7. Which of the following is not applicable to the benefits of supplements?
gianen gHsatlen Bemennaetey QUTHBSTSS 6TE ?

(A) Class of work (B) Time saving
Geuanev LIGLILY Crrid Gedliiy
Increase in defects (D) Prevention of malpractices
@purpser gafiiy ponGasHSeT FhsHD
8. Select the correct ones in the statements related to ledger account.

CuCr (& sema@ Garmuner ampdle sflurarcupens Caira.

(A) Debit to right side of ledger account
CuBri(hs samsdler aueg LIGSED LHM)

(B) Credit to the left side of the ledger account
GuCTL(D& samsdled @)L g LSS eurey

W The closing balance of the current years entire ledger account is the opening

balance of the next year
Bl yamaer pep CuGrips semsdlar @nd @ouy SiGES e
CgT_&s @(mILm@D

(D) A single ledger account should be prepared for assets, liabilities, expenses and

income
Qengg, Qummuiy, GQeeey wHpL eupLTaNd HiumaseEnrss ¢Gr GuGIL (s
sansams sunféas GeuamHb
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10.

11.

12.

Which of the following helps in checking the correctness of the entries made in the
accounts?

sansCapsaier uFuuulGearer udeasealar samsdl B & sgaremwau Csrdss Spasam
o8l 2gadlng

(A) Ratio analysis (B) Balance Sheet
Adls LELUTeY BBl @iy

( Trial Balance (D) Profit and Loss Account
@ muumiey @eoru BLL SeméE

Who defined the trial balance?
B wuumieihg euemnrailassamd FHSeul wWi?

(A) Peglar U’ IR Batliboi

Qugar Cg.gpr. Guiallumi
(C) Luca Pacioli (D) Carter

gnssr urdlGwmey ST LT

What are the categories of expenses?
GFayEeT TFaa euamsLILI(LD?
A) 1 B) 2

©) 4 93

What is wrong with the objective of preparation of reserve?
@muurue| guriuuger Crrassdd geuprs o darg e1g)?

(A) To check the correctness of calculation
samad e sflgsarany LAGsTgamer Geliw

(B) To prepare final accounts
OndHé samsGamer swrilEs

(C) Information on ledger accounts
CUCTL® sams@ad GHSs saeud

M Errors cannot be detected

Genypaenend semL Pl Guicorg

5 040/DD/24
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13.  Whach of the following is not characteristic of capital expenditure?
epvger Geweder BuidLsdr QUTBESTSS TSl ?

(A) Includes all expenses

Smangg CFwe smeTud 2 eTerL S&lug
) Increase productivity

2 HugdH dpevear siflafs@d

(¥ Repetitive
Smibu Hpbu HlEWD SemanioulenLwig)

(D) To be placed in the assets section of the balance sheet
gmrybleas @hlutda Qerggssda ugSuid G bEumibd

14,  Choose the wrong pair.
seupres @enamenwis Cuiia.

(A) Cost of Capital —~ benefits are available in the long run
epesard Gewey - Lwern BamLsrwgdlbe fanL&@ib
M Revenue expenditure — Benefit will be available for three years
aumeumuier GFey - epeTm e REEREE LeeT ElenL&Eh
(C) Long-term revenue expenditure — benefit can be expected for more than
one year
Beruwer eumeurulian Qaae] - LiaenaT @ T DHE G THILITTES (Pigud

(D) Revenue Expenditure - Frequent
cupeumier Geasilard - Sig&sy BlsEpb

15. Errors are classified into
Glen1pa&eT eTHSapan euanaLLpLD

& 5 O 4

C 2 (D) 3

16. Who said that depreciation is a measure of the loss of an asset over its lifetime due
to any cause over a period of time?
Gouiwrerd eerlg @@ GSHUG L stosded assmrarssTaid gHuBL o dergdler
auTBIEr Bprieous GHEGD SeTaur@hd erar sbluieur?

(A) Spicer (B) Beglarin
Goen LIFT Quseuflen
Both (A) and (B) (D) Carter
(A) vppw (B)@reasr@n ST

040/DD/24 6



17.

18.

19.

20.

Which of the following is incorrect in depreciation calculation methods?
Cauwinners sanssl( (pavpseied geuprang erg) ?

(A) Annuity method (B) Revaluation method
@THSESTENS (v oSS pan
Obsolescence systems (D) Linear method
aup&LaTfiey (penp CrrGarl(® qpem

Which of the following is not true of intrinsic causes of depreciation?
Gswirard ghuL Sasssrremasaldy QGUTEESTSS eTF ?

(A) Non-use W Timing
o LGWTdlE&slIuL TenLd &med [blrewTuiLh
(C) Lack of maintenance (D) Emptying
ugmwofiiy @eremo Qeumenow THey

How many days beyond the overdue is considered as Non Performing Asset?
saumens GofléE asgmer BTLaERHE GO QMHEETD HECETEHS BFMUD LG
Qenggna smHsLIUGEDG ?

(4) 120 G 90

(C) 240 (D) 360

Choose the false statement regarding the cash balance ratio.
Qurés @@Ly Qs Agrirurear amnbld gauprarangsd Csie] Cews.

(A) Decision of the Monetary Policy Committee of the Reserve Bank of India
@rdwu flere euridlufer BlGulued amearens @ Wge
Financial policy review is conducted once in 4 months
FésQararens uiie| 4 OTSEEEHEE RUHWD BLESILOS DS

(C) It controls the supply of funds and economic liquidity
Bd OBCGunand whmb Qurmermgry Frosseren ypdHuaipen SLEULITLIGED
MeUSFHIETETS)

(D) Banks engage in investment and lending
&6 sl lpaib LT aupri@Gadaib FhHUGHLD

7 040/DD/24
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21.  Choose the incorrect one among objectives of accounting.
sansdlwellen Crrasmseia sluppans Coray Aews.

(A) Proper record keeping
epenpwimer LIFGeu(l epeusdl (mssed
(B) Finding profit and loss
@aorub bHHID UL LD STl i
Comparison
@USIDsD
(D) Protection of assets
QeTsgiEemar LTgsnsse

22,  Choose the wrong pair.
seupnen @eaemerwt Cgira.

(A) Receipts - Receipts of cash, goods and assets
er(hLIL&erT Qurésib, F&HGHET LoHmID QErgg saer
(D55 CHTeT(EmSHED
(B) Evidenceslip - Printed document
grangy L6 SIFHL_LIUL L Spelemid
(C) Invoice - prepared and delivered by the seller
@iy efpuenaruimeryred swTHSEIULE 6uULphE @&eIg )
Creditors - One gives a benefit and receives it immediately
sLaBCgmi @HeuT g Loeand Qarhsg 2.1 Car Qupsd

23.  Which is incompatible with social responsibility accounting?
sepsli Qurniiiy sewsdugl e UTBEETSS gl ?

(A) Environmental pollution (B) Social welfare
&HmILLD DM FOP& [BEOGH
Human resource investment (D) Employee welfare
weflgeuer (pFaH GeueneveumiiliL] 2 (HeUT& @GS

040/DD/24 8



24.

25.

26.

Any person can transfer cash from any bank branch to the bank branch where the
account of another person is by electronic transfer. What is it?
ahs BUBL aThE b eumdl Henetuledr @mpEgId Wp pufler samsGeter eunifls enetse
aranam UAwrHoD epeod Qrrsssens wTHMD QFLLIETD g eTeer?
(A) Withdrawal card
eriliL] <L emL_
(B) Credit card
GG L_enl_
National Electronic Funds Transfer
Cosdlw Wenangm HELLAbmHDLD
(D) Real-time aggregate management
Bap Gy Gborgs Hlieursbd

Transferring the debit and credit items of transactions recorded in the ledger to the

accounts in the ledger is called
G&OLGUL g Lfleurdl o arer pLeugSansseafles Lhm LHMID uye| Gearktismer GLETL 1G.60

DETaT HATSEGSHEREE WwHmb Cleiicug eTa@T L.

(A) Addition M)sting
Fl (g TOSCBWEIED

(C) Balance sheet (D) Journalising
GBULES DS GHMUGUL g LSl

What is the day of payment when the maturity date falls on an unexpected holiday?
ey Cadl erdlitumyr elBHiepenm Bretmgh Gurg deqdgsnHGMNL BIET eTg ?
(A) Day before maturity date
waite) Cadlé@ Wphogw mrer
(B) One week after maturity date
wiie) Cadls® 0ss @@ QM
\(y The day following a holiday
AOprnsS 20sg @D HreT
(D) A day preferred by the member
2 mudlent aSlgpbLd B

9 040/DD/24
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27.  What is the basic document used for registration in the sale register?
eflpuerer el g ufley QeiieugnE LWETLERD BiglILSL SLEUERTD 6Tg)?

(A) Credit Note (B) Debit Note
ey GHluY uhHo GHuY

(C) Cash Receipt Invoice
Qs Qnég @iy

28.  Cash Book which is used to record credits, debits and all bank transactions is called

as
semEnulg, Oorssd  wpmb  cwhd  usHaEneLw  Grrss  glel  Spseaneurm
DD PESEMLD

(A) Double - column cash book
@musd Crrés o
M Triple - column cash book
WpLusdH Crrés b
(C) Single - column cash book
engmyenr Qyrss er(d

(D) Retail cash book
fevevenn Qyrss 6@

29. ‘Addebitare’ and ‘debere’ are words in which language?
<8 Cr whmid OCT eramueme eThg GmblE Qamhaer

(A) Germany, Latin (B) Latin, Italy
Agioal, Gasder Bosber, Qasred
Italy, Latin (D) Italy, Germany
Bpsnell, Qagher Qsgnal, Ggiadl

30.  Which of the following is false among the advantages of double entry system?
@rauude; apespulen penenngeilcr geupmeng erg)?

(A) Accurate
sléadlwinrarenay

(B) Calculating business results
auenfla (e smer samsHHEeD

(C) Comparative study
UISLE ey
M Unscientific accounting
Sifleflwe yreuopm sewrss

040/DD/24 10



31.

32.

33.

34.

Purchases, purchase returns, sales, sales returns can be considered as related to
inventory .

Aaretapsed, Gamdrapged Hmuub, efbuear, alpueeans Hpuud dueme FréE 6
QSR LIGHEUSETTE LITTEEGD SeneUSEMET GTETEN SEMESTE S(HSETLD

(A) Personnel Account M Asset Account
DETENT SRS Qang g e &,

(Cy Nominal Account (D) None
QuwreTe HemTsE DA )

A bank reconciliation statement is prepared with the help of
el #fsl @b ulgwd gurfuudld o seajeug) erg ?
(A) Bank statement
cunidl oifdenea
(B) Bank column of the Cash book
Qyrée erliger eumdl LG
Bank statement and bank column of the cash book
aundl oiflsms LHMIWL CQITéEs lige aumd LSS
(D) Petty cash book
Soovenyn Crrés i

Which of the error types is incorrect?
Qoo cuanasailen SeupTs o drerg 6Tg) ?

(A) Errors of omission Mrrors of Heredity
R 9 enp wrtdenip

(C) Errors of principle (D) Compensating errors
aFuGenLp mHQFSen paeT

Which of the following errors will not affect the trial balance?
@muunite] sweruRelang LTHEETSME cTane ?

(A) Wrong balancing of an account
W NG enpaer

Posting an amount in the wrong account but on the correct side
UGS @ Wenpser

(C) Wrong totalling of an account
rHEF0 Yeanpser

(D) Carried forward wrong amount in a ledger account
glean ghsafler geuprer ue|ser

11 040/DD/24
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35. The term depletion is used for
Qeumenipiimged eremm Gemey QgrLiyenLwig

Mntangible assets

(B)

(€)

(D)

SETERIE@ Loenars Censgser

Fixed assets
Blanesbensg ser
Natural resources
Qubhens seaflo eueThigeT

Fictitious assets
&huemens Censgsen

36.  Which of the income statement is wrong?
eupeumiler euyeseflch gl HsuUDNTE 2 6Terg) ?

(A)

©)

Bad loan recovered Meceived special jewel loan
eunyr&sLes Slmbu QubHms Apuy persssL.en GUbHDE
Rent received (D) Interest on investments
eunLand Gupmg eSO s Bgrar ey

37. Choose the false one among the following statements :
Epaan appseilds geupreaneng Csis

(A)

©)

(D)

040/DD/24

When the accounts are not maintained in double entry system’ they are called
incomplete accounting records

sarsCaisdr @rietiudey wpapulia urmoissrs Curg men apperd Wup
sasHwud udCaBaer aar Jmpsaliuiidng

Cash accounts and personnel accounts are only incomplete accounting records
Qyrss SeMEEGSET WHMID YTETT SaETEGHE LLHL Wew dupT samsswud
LS GeuLms o dreTg

First increase is taken as profit and first decrease as loss

we® fsMs@n Curg @erubd aatpd Pae G@pyb Gumg pLLD eremmb
aHSgSCaTeTar LIRS DS

Balances of assets are shown on the right side and balances of liabilities are
shown on the left side

Qenpgsafier  @muuset eelLssepn  Quipuyseidar  @@uysear Gl g
LEESHQID STt LiILGidng

12



38.

39.

40.

Cash Book is

Qs B eremLg

(A) Principal book (B) Subsidiary book
(psemend 6 glanamt er(p

(C) dJournal proper MA) and (B)
GALGLE (A) wppib (B)

Pick up the golden rules of accounting.
the receiver and what comes in.

all income and gains,
seraslwctien Cumerermen efiglaenarsCaiia.

Gumueian] WHMID 2 &Tal(heuang ————— Gauis.

D OASH CU(HLOTATEIGEETLLD HFTLBEDETILLD — GlFuis.

W Debit, Credit (B) Credit, Debit
Lpm. aljey augey, Lbo

(C) Debit, Debit (D) Credit, Credit
LOD, UHD) auray, 6Lre,

Which of the following statement regarding ledger is false?

GuCr® Qsriunear sple) seupTarg 6TEl?

(A) In ledger, entries may be posted fortnightly especially when subsidiary
books are maintained
B UMTRSESEE @HYPOD TOS05WsIUEW

(B) Ledger balances serve as the basis for preparing trial balance

BLILTLGY G&FUL SiiglilienL Wimers)
Journals is done on the basis of entries made in the ledger
CuGrpaemer Qaran® GMUCLE swrissltiuE DS

(D) Net position of an account can be ascertained from ledger account
Bar @ldenear bl

13 040/DD/24
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Number

DE PARTMEN TAL EXAMINATIONS

DEPARTMENTAL TEST FOR OFFICERS OF THE CO- OPERATIVE
DEPARTMENT - BOOK KEEPING

(Without Books)

Maximum Time : 1:30 hours - Maximum Marks : 60

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
elfleuner eflenLwaf&@h euena eflermggmar

~ Read the following instructions carefully before beginning to answer the
questions.
lenrésEns@ el wallss @g,rn_ra.t@‘)m ety &Qasasmn_ Sifleyerrsamen SeUaTONS Ly 56 D.

1. Answers in excess of the prescribed number of questlons appearing at the end of the
answer book will not be valued.

e sener @EHLGLGeter aamaisemsss Sidswors wdudmadearn, e ssrefien @gufé,]uﬂw
o arer HEs m@meovﬂa;smaaufﬂa}rrm eflenL_aem LD;QLIIﬁ@ QelwnuLrg.

2. In case of doubt, English version 1s the final.
slanméaatiad &#5CHEO(HL 6l ccgprma%]su mqaﬁ’icu QarRésuul_Hérer aﬁ]etrrrr&as(ﬁsrr @gﬂmna@

L Answer any EIGHT questions only. - - (8x3=24)
| aavaGugib e B eilamss@rdd e weafi&sa)b.

1. What is a cash receipt? -

Qrrés U erenmired eredren ?

9. What is pay-in-slip?

Legisgions ﬁL@ GTETDTEd .GI'G'DTGBT?

3. What are the principles of double entry sysfem‘?

@rienude) apapuller @ubLsdr wrame ?

[Turn over



4. Define subsidiary books.
glenemt ghisear upHd GHlLy euanys.

5. What are the causes of depreciation?

CainTeand HuL STTETRSET WTenel ?

6. What 1s meant by trade discount?

eHlwMuITTS SETERLLY CreTmTed eTaes ?

7. What are the objectives of accounting?

semadlciien CrTEsmkiae wremeu ?

8. Define Invoice.

@MY eTeTmiTey eTetTer ?

9, Write short notes on National Electronic Funds Transfer,

GCalw Weraramy HAHC uflorppn LHH GHUY euerys.

10.  What are the uses of Ledger?

CuCrLliger. LETITE&ET WTeeu ?

II.  Answer any THREE questions ohly. ' : (3x5=15)
aemaGugh wern damiserss e welssayb. ' |

1. What are the advantages of subsidiary books?

gieneanr o (haaflen gbsﬁmmamm cflaufl.

2. Explain the differences between cash discount and trade discount.
Cyrés semEnuly., eflwrunys semerUy 2 drer Caumur@sener efleur.

3. What are the objectives of preparing trial balance?
Bmuumiey gurfiuger CRIGSHEET WTene ?

4. Describe the error of commission.

Qedenperw Ll efleurl..

5. Write the types and advantages of maintaining petty cash book.

fdaemp CQrrés gl eumssdr wHDID LITLALLSTD 2 @TLTED HarepLoaer.

040/DD/24 2



Answer any THREE questions only. (8 x 7=21)

,"%i';mcu_l@n.b peg Aanasenss oo walssay.

Explain the classification of expenditure.

- Qeavesatlan cuamsuT@eamer edeufl.

Explain methods of providing depreciation. -
Gowbrers samsdl () pansmar el

Explain the reasons why bank column of cash book and bank Vstatement may differ?

Qrrés gliger eumduusHuhd womb eurkid @{@5@)@5&@ Gsugju@mg,masrrfm & IT{J GO 1B & GO 6T

Lpl efloud.

What are the dlfferences between stralght line method and declining balance
method?

CrrGami® waps@b Ganss Co Logc,]uq POPESGLD 2 emer Gmguurf@aseﬁ lLJrTGU)QJ.'?

Explain‘ the preparation of profit and loss account.
ey BULE sanéE sunigsame e
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